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Spet Dictation _

Directions: In this section , you will hear ten passages. Each
passage will be read three times. Fach passage is
printed on your Answer Sheet with about 50 words
massing . First, you will hear the whole passage
Jrom the beginning to the end just to get a general
idea of it. Then , in the second reading, you will
hear a signal indicating the beginning of a pause
after each sentence , sometimes two sentences or just
part of a sentence. During the pause, you must
write down the missing words you have just heard
in the corresponding space on the Answer Sheet.
There is aiso a different signal indicating the end
of the pause. When you hear this signal » YOU MIUSE
get ready for what comes next from the recording .
You can check what you have written when the
passage is read to you once again without the paus-

€s.

Passage 1
Diamonds have been treasured by people for thousands of
' 5



years. (1) .Kings and queens wore them in their

crowns. (2) - . to women for 500 years.

Diamonds are (3) . They are formed from
carbon,a natural element that is found (4)_ . The
diamonds we have today were formed (5) , mil-
lions of years ago. Deposits of molten rock in the earth’s core
heated the carbon (6) . This turned some of the
carbon into diamond crystals. Over time, (7) \

caused volcanoes to erupt. They pushed the materials inside the
earth up to the earth’s crust. This brought the diamonds close
to the surface, (8)

The first diamonds were diseovered (9) in
India 2,000 years ago. Today, most of the world’ s diamonds
come from Africa. (10)__ - ~_ that are found are of

gem quality. The rest are used in industry, for cutting and
grinding.

Passage 2
Christmas is really a wonderful time of the year,and there
is something in this holiday (1) . For myself, ]
love (2) that can be seen everywhere. (3)
with all the bright reds and greens everywhere.
There’ s another reason (4) __,a reason that
we should all try to remember. (5) . At Christ-
mas,we all(6) ,we are all kind to each other ,
and we all {(7) . tweachother(8)__ .
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This is (9) and we all feel the better for it . (10)
if we could keep this spirit all through the year.

Passage 3

Video games can be fun to play. (1) . Have
you ever wondered how those unbeatable games work? Well,
they all (2) :a “brain”and two kinds of memory.

(3) . The game’s rules and strategies are

‘stored there. The second type of memory works (4 )
. Scores, moves, the playing time and the location

of the player are stored there. A microprocessor(the brain) runs

the game, serving as a switchboard (5) . The in-

formation that is stored in both memories(6)

The microprocessor plans(7)

Video games are run by electrical pulses. They work so
rapidly that(8) . When you lose a game, you may
think the game is smarter than you. In fact, no game is (9)

. It’s only(10) - and the good pro-
gramming of a human being that allow it to win.

Passage 4
Have vou ever heard it said that powerful athletes (1)
have to keep it up all their lives because if they
stop their muscles will turn to fat? This sports “myth” (2)

Fat and muscle are two different tissues, so muscle (3)

7



. When athletes stop working out, their muscles
begin to shrink(4) . Within two years, the mus-
cles are the same size they would have been(5)

The muscles will have lost size and strength, (6)

FaP L] Ll Ti s e es fas Thin harvuane haronoes

when(7) they needed a lot of calories, and they
got used to eating a lot(8) they needed. When
they stopped working out, they did not cut down (9 )

. They weren’t burning up the calories they
were taking in ,so the calories got stored as body fat. If athletes
watch their calories, (10) , whether they’ re ac-
tive in sports or not.

Passage 5§
Blue has always been my favorite color, and I think (1)
I have several reasons(2) . First, it is a very
soothing color and (3) _ . How do people feel
when they wake up to a day (4) ? Sad and

" — q e T o 1 1Y &N



Passage 6 : :

Did you know that all the people of Hawaii live on volca-
noes? Hawaiiis (1) . All of these islands grew up
from(2) - .

Twenty-five million years ago, Hawaii didn’ t exist. Then,
thousands of feet (3) » the floor of the ocean
cracked open. A voleano that had been pushing its way out(4)

had forced its way through the earth’s crust.
Molten rock called lava flowed from the crack. When the lava
met (5) » it hardened. As the lava continued to
flow, layer upon layer of hardened rock was(6)
Slowly, the volcano built a mountain high enough to break
through (7) . An island was born. Many other
volcanic islands(8)

Ower time, rain broke down the rock of the islands to form
soil. (9) and grew until the islands became green
with plants, :

This took thousands of years. Today, Hawaii is still grow-
ing. Its active volcanoes have recently added(10)
to its land area,

Passage 7
Once beginners Have learned the basics of tennis, it’s time
1) . Being able to put spin on a ball is (2)
. A ball hit in this way spins around at the same
9



time that it moves forward. (3) rotates counter
clockwise, while one with under spin rotates clockwise.
A player puts spin on a ball by tipping the tennis racket(4)
Hitting the ball from the top, (5)
. over the ball gives it top spin. Hitting the ball
with the racket tipped up slightly, (6) ___ .gives it
under spin.

___in two ways. First, a ball with spin goes
slower than one without it. (7) " if a ball has been
hit with spin , an opponent might run forward quickly (8)

,and miss it. Second,a ball with spin drops faster
than a normal ball. The ball might lock as though it’ s going
(9) , and the opponent will let it go. Instead,
(10) . A player who can put spin on a ball has an
advantage in tennis.

Passage 8 -

Sometimes(1) . As people use a new prod-
uct,{2) . This has certainly happened with com-
puters.

The first computers were used around 1950. (3)
. They filled whole rooms. A single unit cost
millions of dollars.

(4) . Scientists studied each part of the comput-
er. Through their work, both(5) were greatly re-
duced. Data can now be stored on tiny chips, and some comput-
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ers are even(6) ' . Scientists are now trying to find
a way to communicate with computers through speech {7)

The functions of computers have changed, too. They are
now used in homes(8) . . They even provide enter-
tainment through programmed games. Computers are now used
in most businesses, (%)

This incredible invention is still changing. ( 10 )

can only grow with each improvement.

Passage 9

Television, it is often said,'keeps one informed about cur-
rent events, and allows one to follow the latest developments in
science and politics. (1) are brought right into
one’ s sitting room. (2) the radio performs this
service just as well; but on television(3) much
more real, (4) : . The television screen itself has a
terrible, almost physical fascination for us. We get so used to(5)

,50 dependent on its flickering pictures, that it
6_ .

There are (7)_____ . The poor quality of its pro-
grammes is (8) .But itis (9)_ - to
many lonely elderly people. I think we must realize that(10)

is netther good nor bad. It is the uses to which it

is put that determine its values to society.
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